PART 1 - SHORT ANSWER QUESTIONS (Total 25 points)
Please write your answer to the corresponding blanks
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a) Refer to the production possibilities frontier in Figure 2. Among the points a,b,c.d.e, which one(s) are
efficient and attainable? (3 points)
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b) Refer to the production possibilities frontier in Figure 2. Which poi

-------- 6 e Bt s -i-bcr.,x} Vo b\ €

nt is unattainable? (2 points)

2

¢)Refer to the production possibilities frontier in Figure 2. Which point (s) indicates that resources are
NOT fully utilized or are misallocated? (1 EOi{‘})

d) Refer to the production possibilitie

producing at a point which was unattainable before? (2 points)
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f) Refer t - . .
B 00 the prf)duct|0|1 possibilities frontier in Figure 2. If the country moves from point d to point a,
PPOrtunity cost of the move (2 points) Lo 9€l
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iggteRefer to the production possibilities frontier in Figure 2. If the country moves from point a to X-
reept, find the opportunity cost of the move. (Hint: x-intercept is the bundle (50 capital goods, 0

consumer goods) (2 points)
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)/ ] =
h_) Refer to the production possibilities frontier in Figure 2.If the country starts at point d
right, first to point a and then to point x-intercept (or horizontal intercept), how does the op

of capital goods change? (2 points) Why? (1 points)
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1) Among the points a, b, d, opportunity cost of consumer goods is highest at point |
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j) Refer to the production possibilities frontier in Figure 2. C§n compar€ points a, b and d in te " ) »
efficiency? (2 points) w
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k) Production possibilities frontier 1s SN glopmg. The slope of production possibilities frontier 1s

4N (vs:'t;-hi t(2 points) 2

e more of both goods with the same resources if the economy moves from point -
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and moves to
portunity cost

1) It is possible to produc

C A 3'51')t0 point fﬁ-—c} ) (2 points)

(?)9 (Ov\jtuﬂer) (j)f C»xf’;'ﬁ\ ) 2

@GUSTKWT - mygust.com




PART II- MULTIPLE CHOICE QUESTIONS

Please write your answers to the table in the first page of exam.

Each question is worth 3 points. Total 75 points

- e 1s your
1) The measure of the benefit you get from consuming the next cup of coffee 15y

A) total utility from coffee when you are at your consumer equilibrium.
B) marginal utility of coffee.
C) total utility from coffee.

D) total utility per dollar spent on coffee.

11 eni ' t one 1S
2) "1 really enjoy watching movies. The first one is best. After that I still enjoy movies but the las
not as much fun to watch as the one before it." This statement reflects the

A) principle of diminishing marginal utility. B) law of supply. b

C) principle of diminishing total utility. D) principle of increasing marginal utility.

Quantity of |[Marginal utility| MU/ P for Quantity of | Marginal utility
from DVDs DVDs DiZZa

from pizza MUY/P for pizza

DVDs _
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3) Lisa spends all her income on pizzas and DVDs. The above table shows Lisa's marginal utility for pizza

and marginal utility for DVDs. If the price of a pizza is $10 and the price of a DVD is $10 and Lisa haﬁfg
to spend on the two goods, what combination of pizza and DVDs will maximize her utility?

Hint: utility is maximized when marginal utility over price ratio of two goods are equal.

”

A - :
| (Aoy A)3 ( Ty o) = %o
6’1 DVD and 3 pizzas B) 2 DVDs and 2 pizzas AE 1 Sl 1LY,
C) 3 DVDs and 5 pizzas D) 2 DVDs and 4 pizzas 4 0) 4 ( Ay Aoy = & °

4) Joe consumes pizza and movies. He is currently spending his entire income and his marginal utility of
pizza is 10 and his marginal utility of movies is 5. If the price of a pizza is $10 and the price of a movie is
$5, then to maximize his utility Joe should

A) increase consumption of movies and decrease consumption of pizza.

-
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5) Bianca con ili
sumes apples and bananas and is in consumer equilibrium. The marginal utility of the last

apple is 10 and the marginal utili _ |
: al utilit i ' le is $0.25, then what 15
the price of a banana? 5 ility of the last banana is 20. If the price of an apple is

Hint: At con ST
sumer equilibrium, marginal utility over price ratios are equal for the two goods.

A) $0.25 B) $0.10 C) $1.00 D) $0.50

6) For a consumer, a budget line shows the boundary between

A) what is affordable and what is not affordable.
B) what is desired and what is not desired.

C) what is available and what is not available.
D) what is needed and what is not needed.

7) All points above the budget line are

A) inferior to every point on the budget line.
B) unaffordable.

C) preferred to every point on the budget line.
D) Both answers B and C are correct.

8) Jake plans to spend $100 on tried chicken and Pepsi. The price of a fried chicken is $5 and Pepsi is $2

per bottle. It Jake buys 10 fried chickens how many bottles of Pepsi can he buy?

A) 50 B) 25 C) 10 D) 75

9) If Sam has $60.00 each week to spend on gasoline and coffee, and their respective prices are $1.50 per

pound, which of the following equations represents his budget line? 21) _

gallon and $3.00 per s 2T L
Qc denotes quantity of coffee and Ls denotes quantity of gasoline.Hlm- Total spending = 19

A) $60.00 = $1.50(Qg) - $3.00(Q¢ ) B) $60.00 = Qg /$1.50 Q. /$3.00

C) $60.00 = $1.50(Qg) * $3.00(Qc ) D) $60.00 = $1.50/Q¢ * $3.00/Q¢
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A) $20 per book.
B) $12 per book.
C) $24 per book.

D) More information is needed to determine the price of a book.

11) If the demand for water is Inelastic, then as the price of water falls, quantity demanded of water will
| wile : and total revenue will é o ( (.¢ 25 €

A) decrease; decrease

B) decrease; increase
C) increase; decrease

D) increase; increase

A) increase; increase  B) increase; decrease
C) decrease; increase D) decrease: decrease

13) Which of the following are most likely to be considered complements to pizzas?

A) yoghurt B) hamburgers C) milk D) soda
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14) Suppose that i
in October th
e pri
price of a cup of cafe latte was $1.50 and 400 lattes were consumed. In

November the pri
price o
change? f a latte was $2.00 and 6
00 lattes were consumed. What might have caused this

A) The price of
cotfee be :
B) The pri "8 s mput of i
price of tea (a substitute forpcaf: la[ilt‘zj)uctlon of cafe lattes) rose.
rose.

C) The price of
coffee bea .
D) The pri AR hpar.of '
price of ten b i e b s ]I;:tC;il;J:et;IC)n of cafe lattes) fell.
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15) The table above gives Andy's utility from popcorn. And

y's total utility from four boxes of popcorn iS

A)66. B)82. C)78. D)70.

ves of bread per week

16) Inga's graph of her budget line has apples per wee

on the horizontal. A fall in the price of bread shifts the

B) horizontal intercept leftward.
D) horizontal intercept rightward.
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A) we recognize that some factors are unknown.

B) neither of those two variables is allowed to change.
C) all other variables are held fixed.

D) both are treated as unpredictable.

20) A variable is:

A) something that cannot be measured.
B) something that can take on different values.

C) something that always has the same value.
D) something that varies over time.
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21) Microeconomics is best descri
st described as the
Stlldy of:

A) marginal changes in the economy

B) the choices ma Indivi
de by individual households, firms, and governments.

C) inflation, unemp] m

, 0 '
{2 sy ploy m?“h gross national product, and the nation's economy as a whole.
D) how m S Interact in the aggregate economy

22) The pu '
) purpose of making assumptions in economic model building 1s to

A) r?lmmjize the amount of work an economist must do
B) simplify the model while keeping important details |
C) express the relationship mathematically. |
D) force the model to yield the correct answer.

23) Which of the following is an example of a normative statement?

A) This good has bad health effects.

B) People usually get sick after consuming this good.

C) Since this good is bad for you, you should not consume it.
D) If you consume this good, you will get sick.

: & 5
24) Which of the following goods would be expected to have the lowest price elasticity of demand:

A) Automobile

B) Chrysler PT Cruiser
C) BMW 323ci

D) VW Passat

ket boom. A cautious economist would not claim that the

25) An economic expansion follows 2 stock mar .
stock market caused the expansion because the economist wants to avoid

A)the fallacy of composition, which is an error in reasoning from timing to cause and effect.

B)the post hoc fallacy, which states that what is true of the parts is true of the whole.

C)the post hoc fallacy, which 1s an error :n reasoning from timing to cause and effect.
D)the fallacy of composition, which states that what is true of the parts 1s true of the whole.
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